
   

Examination on the determinants in the dental occlusion 

     ▪ Student number (                   ) 

     ▪ Name (                   ) 

▪ Expected score (       / 100) 
 

1. When the steepness of articular eminence is small, the risk of occlusal interference in the posterior 

teeth is 

① high    ② low 

2. In the case that the Bennett angle is high, to minimize the risk of occlusal interference, how should 

the cusp angle of posterior teeth be formed? 

① get increased    ② get decreased 

3. In the case that the Bennett angle is high, to minimize the risk of occlusal interference, how should 

the sulcus and fossa of posterior teeth be formed? 

① narrowly    ② widely 

4. When the horizontal overlap of incisal guidance is high, the risk of occlusal interference in the 

posterior teeth is 

① high    ② low 

5. When the anterior guidance is steep, the risk of tooth wear in the anterior teeth is 

① high    ② low 

6. In the Angle Cl II occlusion, when the canine is worn excessively, the possibility of group function in 

the eccentric movements is  

① high    ② low 

▪ Draw the path of functional and marginal movements of mandible. 

7. In the frontal plane.                               8. In the sagittal plane. 

 

 

 

 

 

 

 

 

9. In the horizontal plane. 
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